	T T			Getti	ng On								Getti	ng Out	•						-	Ru	ınning Ba	ses			Getting G	one		_		Avera	ges	•			
	Games	Walk	is	Singles	Doubl	es Trp	ls Homers			At the Pl	ate		On t	he Ground		In the A	ir	Ot	ther	On	Ove			_	Out		Exits		tting Avg.	Or	Base %	Slı	ugging %				
Player Name	GB GN	W* AW	IW I	1* 1DB 10	CI 2* 2	GR 3	HR HY	KB KI	D KE KF	KI KL K	KO KP KS	KU IOPO	E GO	FC DP TI	P FO LO	AKO TI	KO TK2 T	TK3 UO	1	PR BB X	2 S2 S3	SH	C2 C3	CH BOO	ВОН	IB TB IO	B Ej In Su	X Hits	AB BA	OB	PA OBP	ТВ	AB Slug	TOB	<b>Θ</b> TOB/Θ	SB SA	RBI
1 R.Crider	M 43 0	5 -	0	58 0 0	28	0 9	1 0	0 0	0 2	0 0	0 0 0	0 0 0	14	11 0 0	26 7	0 (	0 0	0 0	12	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 96	156 0.6	15 101	161 0.62	145	156 0.92	9 111	1 111	0 0	39
3 D.Bauer I	M 31 0	7 -	0	48 0 0	) 4	0 7	1 0	0 0	0 1	0 0	0 0 0	0 0 0	8	6 0 0	26 3	0 (	0 0	0 0	17	0 0 0	0 0	0	0 0	0 3	3 (	0 0 0	0 0 0	0 60	104 0.5	77 67	111 0.60	14 81	104 0.77	9 72	3 24	0 0	44
3 L.Edwards I	M 24 0	8 -	0	30 0 0	10	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	) 5	9 1 0	27 4	0 (	0 0	0 0	11	0 0 0	0 0	0	0 0	0 6	6 (	0 0 0	0 0 0	0 40	86 0.4	65 48	94 0.5	1 50	86 0.58	1 57	6 9.5	0 0	16
4 A.Postell I	M 10 0	0 -	0	12 0 0	) 1	0 0	0 0	0 0	0 0	0 0	0 0 1	0 0 0	) 1	3 0 0	12 0	0 (	0 0	0 0	6	0 0 0	0 0	0	0 0	0 0	0 (	0 0 0	0 0 0	0 13	30 0.4	33 13	30 0.43	3 14	30 0.46	7 16	0 16+	0 0	7
4 B.Snowden I	M 20 0	1 -	0	16 0 0	) 2	0 2	0 0	0 0	0 1	0 0	0 0 1	0 0 0	) 14	4 1 0	18 3	0 (	0 0	0 0	19	0 0 0	0 0	0	0 0	0 2	2 (	0 0 0	0 0 0	0 20	62 0.3	23 21	63 0.33	3 26	62 0.41	9 25	2 12.5	0 0	10
5 T.McCoy	M 107 0	19 -	1	109 0 0	45	0 22	35 0	0 0	0 1	0 0	0 0 0	0 0 0	37	27 2 0	78 8	0 (	0	0 0	57	0 0 0	0 0	0	0 0	0 9	9 (	0 0 0	0 0 0	0 211	364 0.5	80 231	384 0.60	2 405	364 1.11	3 223	9 24.78	0 0	200
6 Bb.Wright I	M 29 0	5 -	0	24 0 0	7	0 5	3 0	0 0	0 0	0 0	0 0 0	0 0 0	7	9 0 0	38 2	0 (	0 0	0 0	21	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 39	95 0.4	11 44	100 0.44	0 65	95 0.68	4 50	1 50	0 0	26
7 B.Blomquist I	M 13 0	2 -	0	12 0 0	) 7	0 0	1 0	0 0	0 0	0 0	0 0 0	0 0 0	) 2	2 0 0	15 2	0 (	0 0	0 0	6	0 0 0	0 0	0	0 0	0 0	0 (	0 0 0	0 0 0	0 20	41 0.4	88 22	43 0.5	2 30	41 0.73	2 23	0 23+	0 0	15
7 D.Dennis	F 50 0	16 0	0	54 0 0	) 6	0 0	0 0	0 0	0 0	0 0	1 0 0	0 0 0	) 25	13 3 0	35 14	0 (	0 0	0 0	32	0 0 0	0 0	0	0 0	0 2	2 (	0 0 0	0 0 0	0 60	151 0.3	97 76	167 0.45	5 66	151 0.43	7 89	2 44.5	0 0	26
8 T.Kimmeth	M 11 0	3 -	0	14 0 0	) 5	0 3	1 0	0 0	0 0	0 0	0 0 0	0 0 0	8	1 0 0	3 0	0 (	0 0	0 0	5	0 0 0	0 0	0	0 0	0 0	0 (	0 0 0	0 0 0	0 23	35 0.6	57 26	38 0.68	34 37	35 1.05	7 26	0 26+	0 0	9
9 T.Menefee	M 40 0	1 -	0	45 0 0	) 12	0 5	2 0	0 0	0 0	0 0	0 0 0	0 0 0	) 18	4 2 0	46 5	0 (	0 0	0 0	23	0 0 0	0 0	0	0 0	0 5	5 (	0 0 0	0 0 0	0 64	139 0.4	60 65	140 0.46	64 92	139 0.66	2 67	5 13.4	0 0	40
10 B.Bryant I	M 49 1	2 -	0	55 0 0	) 14	0 6	0 0	0 0	0 0	0 0	0 0 1	0 0 0	) 17	6 3 0	62 3	0 (	0 0	0 0	27	0 0 0	0 0	0	0 0	0 4	4 (	0 0 0	0 0 0	0 75	167 0.4	49 77	169 0.45	6 101	167 0.60	5 83	4 20.75	0 0	44
11 T.Kenyon I	M 8 0	0 -	0	7 0 0	) 4	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	) 2	2 0 0	8 2	0 (	0 0	0 0	2	0 0 0	0 0	0	0 0	0 0	0 (	0 0 0	0 0 0	0 11	25 0.4	40 11	25 0.44	0 15	25 0.60	0 13	0 13+	0 0	5
12 C.Cummins	M 34 0	8 -	0	54 0 0	) 9	0 8	1 0	0 0	0 0	0 0	0 0 0	0 0 0	) 16	4 1 0	15 8	0 (	0 0	0 0	14	0 0 0	0 0	0	0 0	0 5	5 (	0 0 0	0 0 0	0 72	116 0.6	21 80	124 0.64	5 100	116 0.86	2 83	5 16.6	0 0	46
13 R.McCoy	M 107 0	21 -	0	138 0 0	) 22	0 8	5 0	0 0	0 1	0 1	0 0 0	0 0 0	) 42	30 0 0	67 22	0 (	0	0 0	53	0 0 0	0 0	0	0 0	0 13	13 (	0 0 0	0 0 0	0 173	336 0.5	15 194	357 0.54	3 226	336 0.67	3 219	13 16.85	0 0	106
14 D.Boyd I	M 10 0	3 -	0	14 0 0	) 4	0 1	0 0	0 0	0 0	0 1	0 0 0	0 0 0	) 4	2 0 0	6 1	0 (	0 0	0 0	3	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 19	33 0.5	76 22	36 0.6	1 25	33 0.75	8 24	1 24	0 0	16
14 M.Frankenberg I	M 10 0	2 -	0	5 0 0	) 2	0 1	1 0	1 0	0 0	0 0	0 0 0	0 0 0	) 3	0 0 0	17 2	0 (	0 0	0 0	12	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 9	32 0.2	81 11	34 0.32	24 16	32 0.50	0 10	1 10	0 0	17
15 Me.Epps I	M 2 0	0 -	0	2 0 0	) 2	0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0	0 0 0	2 0	0 (	0 0	0 0	2	0 0 0	0 0	0	0 0	0 0	0 (	0 0 0	0 0 0	0 4	6 0.6	67 4	6 0.66	67 6	6 1.00	0 4	0 4+	0 0	2
16 D.Ellis	M 5 0	0 -	0	7 0 0	) 0	0 1	0 0	0 0	0 0	0 0	0 0 0	0 0 0	) 3	1 0 0	3 0	0 (	0 0	0 0	3	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 8	15 0.5	33 8	15 0.53	3 10	15 0.66	7 9	1 9	0 0	4
17 J.Teeter I	M 51 0	16 -	0	70 0 0	) 31	0 4	5 0	0 0	0 0	0 0	0 0 0	0 0 0	) 17	16 0 0	19 4	0 (	0 0	0 0	18	0 0 0	0 0	0	0 0	0 5	5 (	0 0 0	0 0 0	0 110	166 0.6	63 126	182 0.69	2 164	166 0.98	8 137	5 27.4	0 0	77
19 J.Woliver I	M 24 0	1 -	0	23 0 0	) 13	0 6	4 0	0 0	0 0	0 0	0 1 0	0 0 0	) 5	4 0 0	22 5	0 (	0 0	0 0	11	0 0 0	0 0	0	0 0	0 3	3 (	0 0 0	0 0 0	0 46	83 0.5	54 47	84 0.56	60 83	83 1.00	0 47	3 15.67	0 0	35
	M 9 0	2 -	0	17 0 0	) 3	0 0	1 0	0 0	0 0	0 0	0 0 0	0 0 0	) 2	1 1 0	5 1	0 (	0 0	0 0	2	0 0 0	0 0	0	0 0	0 1	1 (	0 0 0	0 0 0	0 21	31 0.6	77 23	33 0.69	7 27	31 0.87	1 23	1 23	0 0	17
22 M.Smith	M 17 0	4 -	0	16 0 0	) 7		1 0	-		1	+		<u> </u>	2 0 0	+	<del>!</del>		- 1			+			- 1			1			+		+	50 0.68	1	3 9.667	l I	
23 Ja.Bennett I	M 18 0	1 -	0	22 0 0	9	0 1	1 0			<u>i</u>	<u>i</u>	0 0 0	-	1 0 0	1	<u> </u>								<u> </u>			0 0 0	-		-	59 0.57			1	2 17	0 0	
Player Name	GB GN	W* AW		1* 1DB 10	CI 2* 2	GR 3	HR HY	+		1	-		+	FC DP TP	+	•		+									Ej In Su				PA OBF	_	AB Slug	+	<b>О</b> ТОВ/Є		
2 200 02 1 100000	Games	Walk		Singles			ls Homers			At the P				he Ground		In the A		- 1	ther	On	Ove				Out		Exits		tting Avg.		Base %		ugging %			52 511	
▲ Name of Player			· ·	Getti									Getti	ng Out								Ru	ınning Ba	ses			<b>Getting G</b>	one				Avera	ges				
Players shown in bold, co Players shown in colored	lored font are current	rrently Regular	or more to	or more teams.	1			<u> </u>		Outs at the	e Plate	-Hada Di			▲ Outs in the	Air		▲ Othe		0.4	▲ Getting C	Over 🛕	Getting Ou	t Otaaliaa O			▲ Getting Gone						Effectively You H			se	
i layoto ottowii ili oololea	▲ Games Pla	•		Singles	I I	l I	▲ Homers HR = Homer	Inside the Pa			out - Delay of	f Game		Ider's Choice	FO = Fly Out LO = Line Ou			/ = Inn	Unknown ning Endin	out ng Out	S2 = Stole: S3 = Stole	3B (	C2 = Caught C3 = Caugh	Stealing Thi	nird		Ej = Ejection In = Injury	AB = .			·1+2+3+H	1+(2x2	tal Bases 2)+(3x3)+(Hx4)	W+1+2	ne On Base 2+3+FC+PR+		! 
	GB = Game E	atted	1	= only straight Si	ingle	İ	HY = Homer				eout - Batter E eout - Fouls	Elsewhere		ouble Play iple Play	AKO = Autor TKO = Strike		er Fence		-	Getting On	SH = Stole	e Home	CH = Caugh	nt Stealing House serunner Ou	lome	2	Su = Substitut X = Unknown		Hits+Outs Batting Averag	PA = Pla	te Appearance alks+Hits+Outs		t BAt its+Outs	Θ = BOO ΤΟΒ/Θ	Bs+C2+C3+C		· 
	BN = Game I			DB = Dead Ball S ICI - Catcher Inter		▲ Trip				KI = Strike	eout - Illegal E	Bat	1F = II	ipie i iay	TK2 = Doub	le Strikeout	- Hit Over Fe		P	R = Pinch Rar			Θ = BOOB	s+C2+C3+C	CH	•	A - OHRHOWI	DA -	batting Averag	OBP = (			Slugging %age	וטט/ט		▲ How Often B = Stolen Ba	
		▲ Walks W* = only stra			▲ Doubles						keout - Lookir rikeout - Unkr				TK3 = Tripl	e Strikeout -	Hit Over Fer	ice		BB = Base Bur X2 = Extra Inn	gled ing Runner on	1 2B		y batted Ball ched by Bas												S2+S3+SH	
		AW = Assiste	ed Walk (0		2* = only s 2GR = Gr	traight Dou ound Rule	ible Double			KP = St	trikeout - Step	ped on Plate							•				IOB = Inf	entional Out	t on Base										S	A = Steal Ave SB / (SB+0	rage
		IW - Intentio	nai Walk		2011 - 011	cana i tuic	_ 50010			KS = S KII = 9	strikeout - Swi	nging pire's Discretion	n																						<b>5</b>	,	
										IOP =	Intentional O	out at the Plate	)																							ou Drive In <b>A</b> Runs Batted I	
										OE =	Official Out D	Due to Ejection	1																								

			Gettin	g On			<b>Getting Out</b>				F	Running Bases		<b>Getting Gone</b>			Averages		
	Games	Walks	Singles	Doubles Tr	pls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %		
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB <b>⊙</b>	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов \varTheta тов/ю	SB SA RI
25 D.Josselson M	M 1 0	0 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 4 0.750	3 4 0.750	3 4 0.750	3 0 3+	0 0 2
26 A.Dale	M 32 0	14 - 0	32 0 0	4 0	4 0 0	0 0 0 0 0 0 0 0 0 0 0 0	9 12 0 0	26 5 0 0 0 0	0 14	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	40 92 0.435	54 106 0.509	52 92 0.565	66 1 66	0 0 20
27 J.Byrnes M	M 3 0	1 - 0	4 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	3 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	6 9 0.667	7 10 0.700	8 9 0.889	7 0 7+	0 0 4
29 C.Snezek M	M 11 0	0 - 0	10 0 0	6 0	4 0 0	0 0 0 0 0 0 0 0 0 0 0 0	4 5 1 0	8 3 0 0 0 0	0 7	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	20 41 0.488	20 41 0.488	34 41 0.829	25 0 25+	0 0 17
31 D.Nesser	M 3 0	1 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	3 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 8 0.500	5 9 0.556	5 8 0.625	5 0 5+	0 0 4
31 C.Owens	M 4 0	2 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	4 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 9 0.444	6 11 0.545	5 9 0.556	7 0 7+	0 0 3
31 G.Reynolds M	M 5 0	3 - 0	3 0 0	7 0	0 1 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	4 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	11 15 0.733	14 18 0.778	21 15 1.400	13 1 13	0 0 12
32 D.Locke	м 3 0	1 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	6 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 10 0.400	5 11 0.455	5 10 0.500	5 0 5+	0 0 0
44 D.Kyle	M 63 0	13 - 0	75 0 0	17 0	11 1 0	0 0 0 0 0 0 0 0 0 0 0	23 12 0 0	56 8 0 0 0 0	0 26	0 0 0	0 0 0	0 0 0 4 4	0 0 0	0 0 0 0	104 203 0.512	117 216 0.542	146 203 0.719	128 4 32	0 0 63
49 J.Jefferys N	M 8 0	2 - 0	10 0 0	2 0	1 0 0	0 0 0 0 0 0 0 0 1 0 0 0	1 1 0 0	9 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	13 25 0.520	15 27 0.556	17 25 0.680	16 0 16+	0 0 5
64 J.Beal N	M 4 0	2 - 0	4 0 0	0 0	0 0 0	0 0 0 0 0 0 0 1 0 0 0	2 2 0 0	3 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 12 0.333	6 14 0.429	4 12 0.333	8 0 8+	0 0 3
65 P.Fowler N	M 24 0	0 - 0	22 0 0	14 0	13 2 0	0 0 0 0 0 0 0 0 0 0 0	6 3 0 0	18 3 0 3 0 0	0 6	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	51 84 0.607	51 84 0.607	97 84 1.155	52 0 52+	0 0 47
66 M.Keener N	M 28 0	4 - 0	28 0 0	21 0	1 2 0	0 0 0 2 0 0 0 0 0 0 0 0	8 4 0 0	25 2 0 0 0 0	0 12	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	52 93 0.559	56 97 0.577	81 93 0.871	58 2 29	0 0 32
66 J.Saliceti N	M 9 0	0 - 0	6 0 0	2 0	3 1 0	0 0 0 0 0 1 0 0 0 0 0	1 5 0 0	10 3 0 0 0 0	0 11	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	12 32 0.375	12 32 0.375	23 32 0.719	16 0 16+	0 0 12
93 E.Ramirez M	M 25 0	11 - 0	32 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	5 1 0 0	28 3 0 0 0 0	0 13	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	34 71 0.479	45 82 0.549	36 71 0.507	46 2 23	0 0 24
96 D.Millette N	M 8 0	2 - 0	7 0 0	3 0	0 3 0	0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	10 3 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	13 28 0.464	15 30 0.500	25 28 0.893	13 1 13	0 0 13
99 G.Brooke M	M 100 0	52 - 0	104 0 0	45 0	11 1 0	0 0 0 2 0 2 0 0 1 0 0 0	22 16 3 0	93 15 0 0 0 0	0 51	0 0 0	0 0 0	0 0 0 6 6	0 0 0	0 0 0 0	161 315 0.511	213 367 0.580	231 315 0.733	228 6 38	0 0 94
100 P.Knight N	M 2 0	0 - 0	4 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 5 0.800	4 5 0.800	4 5 0.800	4 0 4+	0 0 0
100 D.Shrader N	M 10 0	2 - 0	11 0 0	4 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	4 2 0 0	11 0 0 0 0 0	0 8	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	15 32 0.469	17 34 0.500	19 32 0.594	19 0 19+	0 0 5
N.Alexander M	M 1 0	0 - 0	1 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 2 1.000	2 2 1.000	4 2 2.000	2 0 2+	0 0 0
M.Alim N	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	2 3 0.667	2 0 2+	0 0 0
Tr.Alvis N	M 2 0	0 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	3 1 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 8 0.500	4 8 0.500	5 8 0.625	4 0 4+	0 0 5
R.Baker N	M 1 0	0 - 0	0 0 0	<u> </u>	+	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	2 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0				2 0 2+	0 0 0
Jo.Bennett N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	3 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 4 0.250	1 4 0.250	1 4 0.250	1 0 1+	0 0 2
Player Name	GB GN	W* AW IV	W 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE		•	<del>!                                    </del>			1 C2 C3 CH BOOB <b>O</b>		Ei In Su X				тов О тов/о	SB SA RI
1 my or 1 miles	Games	Walks	Singles		rpls Homers		On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %		52 511 111
▲ Name of Player			Gettin				<b>Getting Out</b>				F	Running Bases		<b>Getting Gone</b>			Averages		
Players shown in bold, col Players shown in colored to	font are current	y Subs on one or mo yed atted	ore teams.  ▲ Singles  1* = only straight Sin		Homers HR = Homer In HY = Homer (	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere	FC = Fielder's Choice DP = Double Play	FO = Fly Out LO = Line Out AKO = Automatic TKO	▲ Other Outs UO = Unknown / = Inning Endi	Out ng Out	S3 = Stole 3B	C2 = Caught Stealing Second C3 = Caught Stealing Third ne CH = Caught Stealing Home		Ej = Ejection In = Injury Su = Substitution	Hits = 1+2+3+H AB = At BAt Hits+Outs	OB = On Base W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt	▲ How Often Out on Base TOB = Time On Base W+1+2+3+FC+PR+BI Θ = BOOBs+C2+C3+CH	3+X2
	BN = Game I		1DB = Dead Ball Sin 1CI - Catcher Interfe Walk alk (Coed)	ngle	riples Triple ouble	KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging	TP = Triple Play	TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence	F	A Getting On PR = Pinch Ran BB = Base Burgl X2 = Extra Innin		BOOB = Baserunner Out On B 0 = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coac IOB = Intentional Out on Base	h	X = Unknown	BA = Batting Average	Walks+Hits+Outs OBP = On Base %age	Hits+Outs Slug = Slugging %age	SB SA	How Often Safe = Stolen Base S2+S3+SH = Steal Average SB / (SB+C2+C3
						KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate OE = Official Out Due to Ejection													u Drive In ▲ uns Batted In

OE = Official Out Due to Ejection

				Getting	On									G	etting	Out										Rui	nning B	ases				Getting Go	ne					Averag	es				
	Games	Walks	Sin	gles	Doubles	Trpls	Homers			At	the Plat	e		(	On the	Ground	il		In the	Air		Othe	r	On	Ove	r			Out			Exits	Ba	ting Av		On Base	%	Slu	gging %				
Player Name	GB GN	W* AW I	W 1* 11	DB 1CI	2* 2G1	R 3	HR HY	Y KB	KD KE	KF KI	KL KO	KP KS	KU IOI	POE G	O FC	DP 7	TP F	o Lo	AKO	TKO T	K2 TK3	UO	/ Pl	R BB X2	S2 S3	SH	C2 C3	СН ВС	оов О	нв ті	B IOB	Ej In Su	X Hits	AB	BA C	B PA	OBP	TB	AB Slu	ıg TO	в \varTheta т	ΟΒ/Θ	SB SA
H.Berroa	M 1 0	0 -	0 0	0 0	1 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 2	2 0	0	0 (	0 0	0	0 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 1	3	0.333	1 3	0.333	2	3 0.	667 1	0	1+	0 0
S.Bowman	M 1 0	0 -	0 1	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 2	2 0	0	0 (	0 0	0	2 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 1	3	0.333	1 3	0.333	1	3 0.	333 1	0	1+	0 0
B.Connor	M 1 0	0 -	0 0	0 0	1 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 0	0	0 (	0 0	0	0 (	0 0	0	1 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 1	2	0.500	1 2	0.500	2	2 1.	000 1	0	1+	0 0
Sc.Dale	M 3 0	1 -	0 3	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 1	0	0 3	3 0	0	0 (	0 0	0	2 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 3	8	0.375	1 9	0.444	3	8 0.	375 5	0	5+	0 0
C.Dawson	M 2 0	1 -	0 1	0 0	0 0	2	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 2	2 0	0	0 (	0 0	0	1 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 3	5	0.600	1 6	0.667	7	5 1.	100 4	0	4+	0 0
L.Edney	F 1 0	1 0	0 1	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 '	1 0	0	0 (	0 0	0	1 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 1	2	0.500 2	2 3	0.667	1	2 0.	500 2	0	2+	0 0
Ra.Edwards	M 1 0	0 -	0 1	0 0	1 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0	1 0	0	0 (	0 0	0	) (	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 2	3	0.667 2	2 3	0.667	3	3 1.	000 2	0	2+	0 0
T.Ellison	M 1 0	0 -	0 1	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 0	0	0	1 0	0	0 (	0 0	0	2 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 1	3	0.333	1 3	0.333	1	3 0.	333 1	0	1+	0 0
T.Foss	M 2 0	4 -	0 3	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 (	0 1	0	0 (	0 0	0	1 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 3	4	0.750	7 8	0.875	3	4 0.	750 7	0	7+	0 0
C. Fowler	M 0 1	0 -	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 (	0 0	0	0 (	0 0	0	) (	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 0	0	0.000	0	0.000	0	0 0.	000 0	0	0+	0 0
J.Hardee	M 2 0	0 -	0 2	0 0	0 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 0	0	0 4	4 0	0	0 (	0 0	0	2 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 2	7	0.286 2	2 7	0.286	2	7 0.	286 2	0	2+	0 0
F.Jernigan	M 30 0	0 -	0 38	0 0	9 0	2	1 0	0	0 0	0 0	0 0	0 0	0 0	0	6 4	0	0 4	2 3	0	0 (	0 0	0 1	6 0	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 50	105	0.476 5	0 105	0.476	66	105 0.	529 53	0	53+	0 0
M.Jones	M 7 0	3 -	0 10	0 0	4 0	1	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 0	0	0 6	6 0	0	0 (	0 0	0	2 0	0 0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	0 15	22	0.682 1	8 25	0.720	21	22 0.	955 18	0	18+	0 0
M.Kelly	M 11 0	1 -	0 14	0 0	2 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	4 3	0	0 1	1 2	0	0 (	0 0	0	1 0	0 0	0 0	0	0 0	0 1	1 1	0 0	0	0 0 0	0 16		0.444 1	7 37	0.459	18	36 0.	500 20	1	20	0 0
R.Lamborn	M 5 0		0 7	0 0	2 0	2	1 0	0	0 0	0 0	0 0	0 0	0 0	0	3 1	0	0 '	1 1	0	0 (	0 0	0	) (	0 0	0 0	0	0 0	0 (	0 0	0 0	0	0 0 0	-	18	0.667 1	2 18	0.667	21	18 1.	-			0 0
J.Martin	M 1 0		0 1	0 0	0 0	1	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 ,	1 0	0	0 (	) ()	0	1 0	0 0 0	0 0	0	0 0	0 (	0 0	0 0	- 1	0 0 0		3	0.667 2	2 3	0.667	<u> </u>	3 1	333 2			0 0
S.Moss	M 2 0	1	0 3	0 0	0 0	1 0	0 0	0	0 0	0 0	0 0	0 0	0 0		0 0			1 0		0 (		0	-	0 0	0 0		0 0	- :		0 0		0 0 0	0 3		0.750	R 4	0.750		4 0.	<u> </u>			0 0
J.Poulos	M 1 0	<u> </u>	0 1	0 0	1 0	0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0			. <u> </u>	: °	0 (	) ()	0	1 0		0 0	0	0 0	0 (		0 0	- 1	0 0 0	0 2		0.667	) 1	0.7667	3	3 1.			l I	0 0
P.Puckett	M 8 0		1 6	0 0	7 0	1 0	3 0	0	0 0	0 0	0 0	0 0	0 0	0	1 1	0		7 1	0	0 (	) (	0		0 0	0 0	0	0 0	0 0		0 0		0 0 0	0 16	26		7 27	0.630	32	26 1.	-			0 0
	M 1 0		0 1	0 0	1 0	1 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	1 1	0	-	0 0	0	0 (	) O	0		0 0		0	0 0	0 (		0 0	- 1	0 0 0			0.667 2		0.667			000 2			0 0
C.Rogers	M 1 0	1	0 0	0 0	0 0	0		0	0 0	0 0	0 0	0 0	0 0	0					<u> </u>							- +		- :	-	<u> </u>			+-			1 1		-					
N.Sandiford			0 0	0 0	0 0	0			0 0	0 0	0 0		0 0			0			0			0	-	0 0			0 0	<del>-                                    </del>		1		0 0 0			0.000 1	. 4	0.250		3 0.				0 0
A.Wells	M 9 0	0 -	0   11	0 0	2 0	1 2	0 0			<u> </u>		<u> </u>	0 0			1	-		<del>!                                    </del>	0 (	J 0	0	$\pm$	0 0	0 0	<u> </u>				0 0	<u> </u>	0 0 0		29		5 29	0.517	1	29 0.	124 18	_	_	0 0
N.Willhite	M 1 0	0 -	0 0	υ 0	2 0	0	0 0	0	0 0	0   0	0 0	0   0	0 0	0	υ 0	0	0 2	2 0	; 0	0 (	) 0	0	0	0 0	0 0	0	0 0	0 ; (	0	0 0	0	0 0 0	0 2	4	0.500 2	2 4	0.500	4	4 1.	)00 2	0	2+	<u> </u>

Player Name	GB GI	N W* AW I	W 1* 1DB 10	CI 2*	2GR 3	HR	HY KB KD KE	KF KI KL KO KP KS KU IOP	DE GO FC DP TE	P FO LO AKO TKO TK2 TK	3 UO /	PR BB X2	2 S2 S3 SH	H C2 C3 CH BOOB <b>(9</b> HB TB I	OB Ej In Su X	K Hits AB BA	A OB PA OBP	TB AB Slug	тов О тов/б	SB SA
	Games	Walks	Singles	Dou	bles   Trp	ols Ho	ners	At the Plate	On the Ground	In the Air	Other	On	Over	Out	Exits	Batting Avg.	On Base %	Slugging %		
▲ Name of Player	ĺ		Getti	ng On					<b>Getting Out</b>				]	Running Bases	<b>Getting Gon</b>	e		Averages		
Players shown in bold, or Players shown in colored		tly Subs on one or m ayed Batted	ore teams.  ▲ Singles  1* = only straight Si  1DB = Dead Ball Si  1CI - Catcher Intel  Walk  /alk (Coed)	ingle rference ▲ Doubl 2* = only	I I I Marring 3 = T es y straight Doi Ground Rule	HY = F ples riple uble	rs omer Inside the Park omer Over the Fence (Y	Outs at the Plate  KB = Strikeout - Out of Batter's Box  KD = Strikeout - Delay of Game  KE = Strikeout - Batter Elsewhere  KF = Strikeout - Fouls  KI = Strikeout - Illegal Bat  KL = Strikeout - Looking  KO = Strikeout - Unknown  KP = Strikeout - Stepped on Plate  KS = Strikeout - Swinging	GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	▲ Outs in the Air FO = Fly Out LO = Line Out AKO = Automatic TKO TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence	ce	vn Out ding Out  ▲ Getting On PR = Pinch Rar BB = Base Bur	S3 = Stole 3B SH = Stole Hon	C2 = Caught Stealing Second	▲ Getting Gone  Ej = Ejection  In = Injury  Su = Substitution  X = Unknown	Hits = 1+2+3+H AB = At BAt		TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt	TOB = Time On Base W+1+2+3+FC+PR+I Θ = BOOBs+C2+C3+C TOB/Θ	BB+X2
								KU = Strikeout Umpire's Discreti	е											ou Drive In A Runs Batted In

			Getting	g On							Getti	ng Out							Runn	ing Bases			Getting	Gone					Averages				
	Games	Walks	Singles	Doubl	les Trpls	Homers		At th	ne Plate		On t	he Ground		In the Air		Other	On	Ove	er		Out		Exit	s	Batting	Avg.	On I	Base %	Sluggin	ng %			
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2	GR 3	HR HY	KB KD KI	E KF KI K	KL KO KP	KS KU IOPO	E GO	FC DP TP	FO L	O AKO TKO	TK2 TK3	uo /	PR BB X	2 S2 S3	SH C	2 C3 CH	воов О	нв тв ю	B Ej In S	Su X	Hits A	B BA	OB	PA OBP	TB A	AB Slug	тов \varTheta тов	/Θ SB SA	RBI
J.Mendoza	16 0	4 0 0	19 0 0	6	0 2	1 0	0 0 0	0 0	0 0 0	0 0 0 0	5	3 0 0	14	2 0 0	0 0	0 8	0 0	0 0	0 0	0 0	1 1	0 0 0	0 0	0 0	28 5	3 0.520	31	57 0.550	41 5	53 0.770	34 1 ####	## n/a n/a	ı 22
Team Totals	110	249 0 2	1328 0 0	413	0 149	79 0	1 0 0	10 0	5 1 1	7 0 0 0	374	238 19 0	1002 1	56 0 3	0 0	0 603	0 0	0 0	0 0	0 0	88 88	0 0 0	0 0	0 0	1969 378	36 0.520	2220	4037 0.550	2917 37	786 0.770	2379 88 111	l n/a n/a	a 1313

(71=69m+2f) Team by Year - League - DZ - Extended

Player Name	GB GN Games	W* AW IW Walks	1* 1DB 1Cl Singles			HR HY Homers		KI KL KO KP KS KU IOPO At the Plate	E GO FC DP TI On the Ground		UO / Other	PR BB X2 On	S2 S3 SH Over	C2 C3 CH BOOB <b>O</b> HB TB I	OB Ej In Su X Exits	Hits AB BA Batting Avg.		TB AB Slug Slugging %	тов 🛭 тов/о	SB SA RB
▲ Name of Player			Getting	g On					<b>Getting Out</b>				F	Running Bases	<b>Getting Gone</b>	e		Averages		
Players shown in bold, col Players shown in colored t	font are currently  ▲ Games Play GB = Game Ba BN = Game N	Subs on one or more ed atted	e teams.  A Singles  1* = only straight Sing  1DB = Dead Ball Sin  1CI - Catcher Interferalk  (Coed)	igle	I I Triples 3 = Tripl	e e	ide the Park	Outs at the Plate KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KU = Strikeout Umpire's Discretio IOP = Intentional Out at the Plate OE = Official Out Due to Ejection	GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	▲ Outs in the Air FO = Fly Out LO = Line Out AKO = Automatic TKO TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence	e	n Out ing Out ▲ Getting On PR = Pinch Ran BB = Base Burg	S3 = Stole 3B SH = Stole Hom	▲ Getting Out  C2 = Caught Stealing Second  C3 = Caught Stealing Third  BCH = Caught Stealing Home  BOOB = Baserunner Out On Base  □ = BOOBs+C2+C3+CH  HB = Hit by batted Ball  TB = Touched by Base coach  IOB = Intentional Out on Base	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt	OB = On Base W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+I 0 = BOOBs+C2+C3+C TOB/0 SI	B+X2